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1 b 13 a 25 a 37 b 49 a

2 a 14 d 26 b 38 b 50 c

3 a 15 b 27 b 39 c 51 b

4 b 16 b 28 d 40 a 52 c

5 b 17 d 29 a 41 c 53 a

6 a 18 a 30 b 42 a 54 a

7 b 19 c 31 d 43 a 55 d

8 a 20 b 32 d 44 a 56 d

9 c 21 c 33 b 45 d 57 a

10 a 22 d 34 a 46 b 58 b

11 a 23 b 35 b 47 a 59 c

12 c 24 b 36 d 48 c 60 c
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QUIZ
1. Sarah was a typewriter. Ans: Freelance
2. Sarah had to provide type - written menus for tables at Schulenburg’s Restaurant.  Ans: Twenty one
3. Bruno enjoyed cold chicken with and onion stuffing. Ans: Sage
4. Shmuel’s hand was like a . Ans: Skeleton
5. Bruno was a nine year old boy who grew up during World War - Il in . Ans: Nazi Germany
6. The statue is a figure of Sadako holding a ___ carrying the hope of a peaceful world. Ans: Golden crane
7.Sadako’s Bomboo classmates began a movement to raise funds for a Ans: Monument
8.1n an official decision was taken to build the Children’s Peace Monument in
the Peace Memorial Park. Ans: January 1957
9.1In 1945 Sadako’s father moved to city. Ans: Miyoshi
10. Walter was a modern farmer, the son of old farmer Franklin of . Ans: Sunny Brook farm
11.1f 252= 625, then what will be the square root of 625. Ans: 25
12. Say the number of digits in the square root of 441. Ans: 2
13. What is the smallest 3 digit perfect square? Ans: 100
14. Say the number which is multiplied by itself 3 times. Ans: Cube number
15. Say the formula for the sum of first n odd natural number. Ans: n2
1,1
16. If both x and y are in direct proportion, then — & — are in . Ans: Inverse proportion
Xy

17. Express the square number 52 as the sum of 2 consecutive integer. Ans: 12 & 13
18. To construct a unique quadrilateral, what is the minimum number of measurement required. = Ans: 5
19. How many quantities we need to compare the ratio? Ans: 2
20. Say the fraction which is equal to 5 percent. Ans: 2—0
21. Dendrites are present in cell. Ans: Nerve
22. Chloroplast is absent in cell. Ans: Animal
23. Group of cells form . Ans: Tissues
24. Bakelite is an example of plastic. Ans: Thermosetting
25. is stronger than a steel wire. Ans: Nylon
26. Tin cans used for storing food are made by tin on to iron. Ans: Electroplating
27.The liquid which conducts electricity and undergoes decomposition is called __. Ans: Electrolyte
28. is done on kitchen gas burners. Ans: Chromium plating
29. During electrolysis ions are collected at cathode. Ans: Positive
30. The north pole of a magnet the north pole of another magnet. Ans: Repels
31. When was the first cotton mill of Ahmedabad set up? Ans: 1861



32. was the strongest critic of the Orientalists. Ans: James Mill

33.__based Indusries are mostly in private or co-operative sector. Ans: Agro
34. Secondary activities are concerned with processing of resources. Ans: Natural
35.____ system means that a person can appeal to a higher court if they are not

satisfied with the judgment of the lower court. Ans: Appellate System
36.____law deals with conduct or acts that the law defines as offences. Ans: Criminal
37. Shifting type of farming is also known as ____ agriculture. Ans: Slash and Burn
38. The British government enacted a legislation banning the use of printed cotton

textile chintz - in English. This act was known asthe _____act. Ans: Calico

39. agriculture is a pattern of farming where a particular crop is grown on a large - scale. Ans: Plantation
40. Gandhiji was highly critical of civilisation. Ans: Western
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